
See figure on next page

See figure on next page



 0

 5

 10

 15

 20

-1 -0.5  0  0.5  1

ε=1/30

Lorentzian
sinc function

 0

 5

 10

 15

 20

-1 -0.5  0  0.5  1

ε=1/60





















or more explicitly, f(x) =
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The coe�cients fn are given by
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the frequency depends on time

The amplitude depends on time as A cos(!1t)
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Power spectrum

Power spectrum

Discussed in homework
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See picture below!!

This proves completeness of the fourier series



-5

 0

 5

 10

 15

 20

-4 -3 -2 -1  0  1  2  3  4

sin((N+1)θ/2)/sin(θ/2)

θ=2πx/L with L=1
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